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I.There has been a gradual shift from the cultivation of food crops to the cultivation of fruits,
vegetables, oil seeds, and industrial crops. This has led to the reduction in net sown area under
cereals and pulses. With the growing population of India, the declining food production puts a
big question mark on the country’s future food security. The competition for land between
non-agricultural uses such as housing etc. and agriculture has resulted in a reduction in the net
sown area. The productivity of land has started showing a declining trend. Fertilizers, pesticides,
and insecticides, which once showed dramatic results, are now being held responsible for
degrading the soils. Periodic scarcity of water has led to a reduction in the area under irrigation.
Inefficient water management has led to water logging and salinity.

Q1. One can infer from the above-given information that marginal and small farmers have been
pushed out of cultivation. Which one of the following is the prominent cause?

a. Food and fruit crops are expensive in the market

b. Shift to multifarious crops according to demand

c. Periodic scarcity of water in many regions

d. Soil degradation and extensive Green Revolution

Ans 1- (d)Soil degradation and extensive Green Revolution

. Fertilizers, pesticides, and insecticides, which once showed dramatic results, are now being
held responsible for degrading the soils.

Q2. Read the following statements and find the correct ones from the given options:

I. Indian farmers are diversifying their cropping pattern.

II. They are shifting production from cereals to fruits, vegetables, etc.

III Jute is in high demand in the Indian market.

a. I & II

b. II&III

c. III Only

d. II Only

Ans 2- (a) I & II

There has been a gradual shift from the cultivation of food crops to the cultivation of fruits,
vegetables, oil seeds, and industrial crops.



Q3. According to the information given above, there has been a reduction in the net sown area
under cereals and pulses. Identify the reason.

a. Lack of markets to sell cereals and pulses

b. Earn more income from the non-agricultural sector

c. Need of huge labor in cultivating cereals and pulses

d. Availability of more profits from commercial crops

Ans 3- (d) Availability of more profits from commercial crops

There has been a gradual shift from the cultivation of food crops to the cultivation of fruits,
vegetables, oil seeds, and industrial crops. This has led to the reduction in net sown area under
cereals and pulses.

Q4. ‘Fertilisers, pesticides, and insecticides, which once showed dramatic results, are now being
held responsible for degrading the soil.’ Infer the positive effects of these inputs noticed earlier
from the following statements:

a. These inputs have shown increased outputs and productivity.

b. These are integral to the process of reducing agrarian losses.

c. These inputs can cut the amount of harvestable produce.

d. These are the leading causes of mortality and health problems.

Ans 4- (a) These inputs have shown increased outputs and productivity.

Fertilizers, pesticides, and insecticides, which once showed dramatic results, are now being held
responsible for degrading the soils.

Q5. There are states in India that are using fertilizers, pesticides, and insecticides at an excessive
level to increase their agricultural production. Identify the states which are at a prominent level
from the following options.

a. Karnataka and Kerala

b. Haryana and Punjab

c. Punjab and Gujarat

d. Haryana and Telangana

Ans 5- (b) Haryana and Punjab

These states are pioneer of green revolution remarkably increased manyfold production due to
usage of chemicals fertilizers, pesticides, and insecticides.



खाद्य फसलों की खेती से फलों, सब्जियों, तिलहन और औद्योगिक फसलों की खेती की ओर

धीरे-धीरे बदलाव आया है। इससे अनाज और दालों के तहत शदु्ध बोए गए क्षेत्र में कमी आई

है। भारत की बढ़ती जनसंख्या के साथ, घटता खाद्य उत्पादन देश की भविष्य की खाद्य सरुक्षा

पर एक बड़ा प्रश्नचिह्न लगाता है। आवास आदि जसेै गैर-कृषि उपयोगों और कृषि के बीच भमूि

की प्रतिस्पर्धा के परिणामस्वरूप शदु्ध बोए गए क्षेत्र में कमी आई है। भमूि की उत्पादकता में

गिरावट का रुख दिखने लगा है। उर्वरक, कीटनाशक और कीटनाशक, जो कभी नाटकीय परिणाम

दिखाते थे, अब मिट्टी को खराब करने के लिए जिम्मेदार ठहराए जा रहे हैं। समय-समय पर

पानी की कमी के कारण सिचंाई के क्षेत्र में कमी आई है। अकुशल जल प्रबंधन के कारण जल

जमाव और खारापन बढ़ गया है।

Q1. ऊपर दी गई जानकारी से यह अनमुान लगाया जा सकता है कि सीमांत और छोटे किसानों

को खेती से बाहर कर दिया गया है। निम्नलिखित में से कौन सा प्रमखु कारण है?

a) बाजार में खाद्य एवं फलों की फसलें महंगी हैं

b) मांग के अनसुार विविध फसलों की ओर बदलाव करें

c) कई क्षेत्रों में समय-समय पर पानी की कमी होती रहती है

d) मदृा क्षरण और व्यापक हरित क्रांति

Q2. निम्नलिखित कथनों को पढ़ें और दिए गए विकल्पों में से सही कथन खोजें:

I. भारतीय किसान अपने फसल पटैर्न में विविधता ला रहे हैं।

II. वे उत्पादन को अनाज से फलों, सब्जियों आदि में स्थानांतरित कर रहे हैं।

III भारतीय बाजार में जटू की अत्यधिक मांग है।

a) मैं और द्वितीय

b) द्वितीय एवं ततृीय

c) ततृीय केवल

d) द्वितीय केवल

Q3. ऊपर दी गई जानकारी के अनसुार, अनाज और दालों के तहत शदु्ध बोए गए क्षेत्र में कमी

आई है। कारण पहचानें.

a) अनाज और दालें बेचने के लिए बाजारों का अभाव

b) गैर-कृषि क्षेत्र से अधिक आय अर्जित करें



c) अनाज एवं दालों की खेती में भारी श्रम की आवश्यकता

d) व्यापारिक फसलों से अधिक लाभ की उपलब्धता

Q4. 'उर्वरकों, कीटनाशकों और कीटनाशकों, जिनके कभी नाटकीय परिणाम सामने आते थे, को

अब मिट्टी को खराब करने के लिए जिम्मेदार ठहराया जा रहा है।' पहले देखे गए इन इनपटुों के

सकारात्मक प्रभावों का अनमुान निम्नलिखित कथनों से लगाएं:

a) इन इनपटुों ने आउटपटु और उत्पादकता में वदृ्धि दर्शाई है।

b) ये कृषि घाटे को कम करने की प्रक्रिया का अभिन्न अगं हैं।

c) ये इनपटु कटाई योग्य उपज की मात्रा में कटौती कर सकते हैं।

d) ये मतृ्यु दर और स्वास्थ्य समस्याओं के प्रमखु कारण हैं।

Q5. भारत में ऐसे राज्य हैं जो अपने कृषि उत्पादन को बढ़ाने के लिए उर्वरकों, कीटनाशकों और

कीटनाशकों का अत्यधिक स्तर पर उपयोग कर रहे हैं। निम्नलिखित विकल्पों में से उन राज्यों

की पहचान करें जो प्रमखु स्तर पर हैं।

a) कर्नाटक और केरल

b) हरियाणा और पंजाब

c) पंजाब और गुजरात

d) हरियाणा और तलेंगाना

II.Partly due to their efforts and partly due to other socioeconomic changes, castes and caste
system in modern India have undergone great changes. With economic development large scale
URBANISATION growth of literacy and education, OCCUPATIONAL MOBILITY and the weakening
of the position of landlords in the villages, the old notions of CASTE HIREARCHY are breaking
down. Now, most of the times, in urban areas it does not matter much who is walking along
next to us on a street or eating at the next table in a restaurant.

The Constitution of India prohibited any caste-based discrimination and laid the foundations of
policies to reverse the injustices of the caste system. If a person who lived a century ago were to
return to India, she would be greatly surprised at the change that has come about in the
country.

Q1 Who among the following is not a prominent name to bring caste reforms in India?

a) Jyotiba Phule
b) B.R. Ambedkar



c) Mahatma Gandhi
d) Jawaharlal Nehru

Ans 1-(d) Jawaharlal Nehru

Jyotiba phule work with savitribai Phule to promote women education

B.R.Ambedkar laid emphasis on equality in educational opportunities irrespective of
gender,caste, religion

MK Gandhi said- If you educate woman you educate entire family

Q2.The main reason for caste system removal in urban India is:

a) People do not have any faith in caste system.
b) People’s primary concern is the economic progress.
c) In urban colonies it is difficult to identify someone by his caste.
d) Local authority discourage the caste system.

Ans 2-(b) People’s primary concern is the economic progress.

With economic development large scale URBANISATION growth of literacy and education,
OCCUPATIONAL MOBILITY and the weakening of the position of landlords in the villages, the
old notions of CASTE HIREARCHY are breaking down

Q3. The sentence ‘caste and caste system have undergone great changes’ signifies:

a) Now castes and caste system have taken new forms.
b) The caste boundations are breaking down rapidly.
c) In ancient society caste system did not had any importance.
d) Caste system is in India because of globalization and colonization.

Ans 3-(b) The caste boundations are breaking down rapidly.

With economic development large scale URBANISATION growth of literacy and education,
OCCUPATIONAL MOBILITY and the weakening of the position of landlords in the villages, the
old notions of CASTE HIREARCHY are breaking down

Q4. Find out the incorrect statement about caste system:

a) Economic development, urbanization played important role to remove caste system
b) Removal of Zamindari system helped to remove caste system in urban area
c) Caste based discrimination is a punishable offence in India
d) The structure of social hierarchy is changing now

Ans 4-(b) Removal of Zamindari system helped to remove caste system in urban area

Zamindars were made the owners of the land and were given the right to collect the rents
from the peasants. They belong to upper caste.



Q5. Which Article of Indian Constitution prohibits any discrimination on ground of gender,
religion, caste etc :

a) Article 16
b) Article 21
c) Article 35
d) Article 15

Ans 5-(d) Article 15

The State shall not discriminate against any citizen on grounds only of religion, race, caste,
sex, place of birth or any of them.

आशंिक रूप से उनके प्रयासों के कारण और आशंिक रूप से अन्य सामाजिक-आर्थिक परिवर्तनों
के कारण, आधनुिक भारत में जातियों और जाति व्यवस्था में बड़े बदलाव आये हैं। आर्थिक
विकास के साथ बड़े पमैाने पर शहरीकरण, साक्षरता और शिक्षा की वदृ्धि, व्यावसायिक
गतिशीलता और गांवों में जमींदारों की स्थिति कमजोर होने से, जाति पदानकु्रम की परुानी
धारणाएं टूट रही हैं। अब, ज्यादातर समय, शहरी इलाकों में यह ज्यादा मायने नहीं रखता कि
सड़क पर हमारे बगल में कौन चल रहा है या किसी रेस्तरां में अगली मेज पर कौन खा रहा है।
भारत के संविधान ने किसी भी जाति-आधारित भेदभाव को प्रतिबंधित किया और जाति व्यवस्था
के अन्याय को उलटने के लिए नीतियों की नींव रखी। अगर एक सदी पहले रहने वाला कोई
व्यक्ति भारत लौट आए, तो उसे देश में आए बदलाव पर बहुत आश्चर्य होगा।
Q1. निम्नलिखित में से कौन भारत में जाति सधुार लाने वाला प्रमखु नाम नहीं है?
a) ज्योतिबा फुले
b) बी.आर. अम्बेडकर
c) महात्मा गांधी
d) जवाहरलाल नेहरू
Q2.शहरी भारत में जाति व्यवस्था हटाने का मखु्य कारण है:
a) लोगों को जाति व्यवस्था में कोई विश्वास नहीं है।
b) लोगों की प्राथमिक चितंा आर्थिक प्रगति है।
c) शहरी कॉलोनियों में किसी को उसकी जाति से पहचानना मशु्किल है।
d) स्थानीय प्राधिकारी जाति व्यवस्था को हतोत्साहित करते हैं।
Q4. यह वाक्य 'जाति और जाति व्यवस्था में महान परिवर्तन आया है' दर्शाता है:
a) अब जातियों और जाति व्यवस्था ने नए रूप ले लिए हैं।
b) जाति बंधन तजेी से टूट रहे हैं।
c) प्राचीन समाज में जाति व्यवस्था का कोई महत्व नहीं था।



d) वशै्वीकरण और उपनिवेशीकरण के कारण भारत में जाति व्यवस्था है।
Q4. जाति व्यवस्था के बारे में गलत कथन का पता लगाएं:
a) आर्थिक विकास, शहरीकरण ने जाति व्यवस्था को हटाने में महत्वपरू्ण भमूिका निभाई
b) जमींदारी प्रथा को हटाने से शहरी क्षेत्र में जाति व्यवस्था को हटाने में मदद मिली
c) भारत में जाति आधारित भेदभाव एक दंडनीय अपराध है
d) सामाजिक पदानकु्रम की संरचना अब बदल रही है
Q5. भारतीय संविधान का कौन सा अनचु्छेद लिगं, धर्म, जाति आदि के आधार पर किसी भी
भेदभाव पर रोक लगाता है:
a) अनचु्छेद 16
b) अनचु्छेद 21
c) अनचु्छेद 35
d) अनचु्छेद 15


